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FH| #% 2R EEaps +=x i3 S

7% | g2 |-&E-51| ww i 1 (110) mEH 3 51100000155
IE | Eup |-E-71| g 2 (110) mE L 2xpE3 51100000255
IE | #E#ufp |-#-71|] BEX 4 3 (110) mE L2223 51100000355
IE | Emfp |- #-71| Bldx 1 (110) mE L 2xpE 3 5110000045
TE | Emp |- &3] mMmREFE 2 (110) = E L2223 51100000555
7% | #mp |-&E-3F1| =®mEF 3 (110) mE L2223 51100000655
TE | Emp | -3 miEw 1 (110) mE & 2xpE3 5110000075
IE | Eufp |-r=251| hun 2 (110) mE & 2xpE3 51100000855
IE | Emfp |-F=271| % Ep 3 (110) = E L2223 5110000095
F& | #mp |-feF] miER 1 (110) = E & 2x 23 51100001055
F& | #mp |- fEeF] Frix 2 (110) mE L 2xpE3 51100001155
& | #mp |-feF| mEl 3 (110) mE L2253 51100001255
TE | Emf |- 275 | fhRaxdr 1 (110) = E & 2xpE3 51100001355
FTE | Emp |-&E2731| mMmagER 2 (110) mE L2 pE3 51100001455
IE | Emp |-E731| 2% 3 (110) mE &2 pF3 51100001555
& | #E#up |-E-F1) FHFE 1 (110) s #E & 23 % 1100001655
& | #up |mEe-F] %R 2 (110) s #E & zxpEF % 1100001755
& | #Eup |mE-F1] Z 4 3 (110) s #E & zxpEF % 1100001855
75| #up |-E-oF) F TG 1 (110) = #E & x5 % 1100001955
7% | #up | - & 5| ke 2 (110) s #E & 23 % 1100002055
& | #up |DE-31) EFk 3 (110) s #E &z pEF %11000021 %5
7% | gmp |-E-F]| HiE 1 (110) = & x5 5110000225
& | #up |-EzF| FAE 2 (110) s #E & 3 % 1100002355
T | gop |-e-z| wlnFE 3 (110) = &3 5110000245
& | #up |mEerr| BT X 1 (110) = #E & x5 % 110000255
& | #Eup |mEeF| mT A 2 (110) s #E & x5 %11000026%%
7% | #np |mE2eF]| GRH 3 (110) s #E & zxpEF % 1100002755
& | #up |Eerr] mAE 1 (110) s #E & 3 % 1100002855
& | #Eup |mErF| L% 2 (110) s #E & 3 %11000029%5
& | #up |-E273T)] mdT 3 (110) s #E & x5 %11000030%%5
I | #Eup | z&e-F1| somp 1 (110) s E &3 5110000315
75| #Fup |- FFr 2 (110) mE &3 5110000325
& | #Fup |zE-F1] Z i 3 (110) sEH 23 5110000335
& | #EFup |zE-F] FuaE 1 (110) sE &3 5110000345
& | #Fup |- Rk 2 (110) sE &3 5110000355
T& | #up |ze-31) 0% 3 (110) mE &5 5110000365
75| #Fup |zEe=2F1]| 214 1 (110) mE &3 5110000375
5| #up |31 2 HF 2 (110) sE &3 5110000385
T& | #up |zEeF] IfE 1 (110) mE &3 5110000395
5| #Fup |zEerFr| EniL 2 (110) s E &3 5110000405
5| #Fup |zEeFi| 3 ES B (110) s E &3 5110000415
I | #Emp | =e75| HHKizim 1 (110) s E &3 5110000425
I | Eup |75 M 2 (110) s EH 23 5110000435
T | Epup |e75| 1= B (110) s E &2 5110000445
7% | #uop |weEa-31| Plrex 1 (110) = #E &zt % 1100004555
TE | #Eup | v £E- 31| sk ANH 2 (110) s #E & zxpEF % 110000465
& | #u2p |era-31] HRG 3 (110)  #E & zxpEF % 1100004755
& | #uop |er-31| 55 1 (110) s #E & zxpEF 51100004855
& | #up |eE-FI] 3 EH 2 (110) = #E & zxpEF % 1100004955
& | #up |eEoF] I S 3 (110) s #E & x5 % 1100005055
5| #up |vEzFr] HPur 1 (110) s #E & &3 % 11000056155
TE | #u2p |erz231) A0% 2 (110) = #E &zt % 110000525
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IE | #uf Jerz71| wmZ b 3 (110) a‘é E LT 51100005355
IE | #Euf Jereri| ®F i 1 (110) s E & zxkx 5110000545
TE | #Enp |eEeri| i 2 (110) s E & zx s % 110000555
IE | #uf Jereri| Z55 3 (110) apﬁésplﬁ%—:»éilloooo%%i
TE | #Eup |eragr| E3 % 1 (110) s E & zx s % 110000575
TE | #Eufp |vEaTri| T 2 (110) s E & zx s 5110000585
TE | o v FERE 3 (110) s E & zx ks 5110000595
IE | Eufp |7 E-71| £agw 1 (110) = E L2223 5110000605
TE | Emp |7 E-31]| 3% 2 (110) s E & zx ks 5110000615
IE| #Eufp |TE-71| § 4 3 (110) = E &2 pE 3 5110000625
IE | Eufp |71 F REE 1 (110) = E &2 pE3 5110000635
IE| Eup |7 E-31| mEE 2 (110) mE L2 pE3 5110000645
IE| Eufp |7 E-71| MEPE 3 (110) = E L2223 5110000655
IE | #Eufp |7E=271| F3F 1 (110) = E L2223 5110000665
TE | Emp | T E=31| EuiE 2 (110) mE & 2xpE 3 5110000675
IE | Eup |7 E=231| G 3 (110) mE L2223 5110000685
FE | Eufp |TEer| IiREE 1 (110) = E L2223 5110000695
IE | #EZup || “hiT 2 (110) = E L2 pE3 51100007055
IE | #EZmp |TEez| § A 3 (110) mE L 2xpE3 51100007155
IE | Eufp | TETT| $h= 1 (110) mE L2223 51100007255
TE | EZmp |7 ET3| K38 2 (110) mE &2 pE3 51100007355
IE | Eup |7 T3] mpé 3 (110) E.Tn E LT 5110000745
ITE| BEf | -E-71]| EBH 1 (110) s E & zxkx 5110000705
IE| BEP | -E-71] #3x 2 (110) s E L zxkx 5110000765
ITE| BpEf | -F-F1] @wipn 3 (110) s E & ks 5110000775
IE| BbEP | -1 HF= 1 (110) s E & zxkx 5110000785
ITE|l BEf -7 R 2 (110) s E & zxkx % 110000795
ITE | BEf -7 A 3 (110) s E & zxx 5110000805
TE | pEp |lzea-F1] Fun 1 (110) = #E Lz 51100008155
| pap lze-m] o 2 (110) %z & 2r# 3 5110000825
IE |l BEP |z2Ea-31] wu 3 (110) apﬁésplﬁ%—:»éillOOOOS?)%i
IE| BEP |vEa-31| E5yy 1 (110) s E & x s 5110000845
I 5| pEF | v E-gT JeZE 2 (110) s E & zxx % 110000855
IE| BEf |eEa-71| ;miE§E 3 (110) mE L3 51100008655
IE| BpEP |TE-FI| ;WiEH 1 (110) s E & zx ks % 110000875
& | BEp | TE-FI] FFH 3 (110) s E & zxx 5110000885
IE | ERPL |-F-71| mzHF 1 (110) mE & 2xpF3 5110000895
IE| ERP |-&F-31| %EE 2 (110) = E & 2xpE3 51100009055
TE| ERP |-F-71| ERF 3 (110) = E L 2xpE3 51100009155
TE| ERP |- HS 1 (110) = E L2223 51100009255
TE| R |-&E-31] %34 2 (110) mEH 3 51100009355
Y ETEEA 3 (110) mEH T 51100009455
TE | ERP | zE-71| kRRpE 1 (110) = E & 2xpE3 5110000955
TE| ERP |zE-31]| F L% 2 (110) = E & 2x 23 5110000965
IE| ERP |z2Ea-71| %% F 3 (110) = E & 2xpE3 5110000975
IE| ERP |eEa-71| ML 1 (110) = E & 2xpE3 51100009855
TE| ERP |veera-71| LB 2 (110) = E & 2xpEF 5110000995
TE| ERP |eEa-31]| rizH 3 (110) mE L2253 51100010055
75| EJRAL |7 E-FT iR 1 (110) mE L 2xpE3 51100010155
TE| ERP |7E-371]| 347 2 (110) mE L 2xpE3 51100010255
& | pEf | -E-71] wIH 1 (110) s E & zxx 5110001035
5| pE |- &F-31 b 2 (110) s E L xkx 5110001045
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— B | AEs | -S| EkiE 1 (110) s F Bzt 5110001055
B | BpEp |- E-or]| Tk 2 (110) s F &zt 5110001065
B | pEp |- E-FT]| Foki 1 (110) s F Bzt 5110001075
— 5| e | -] Hhex 2 (110) s F Bzt 5110001085
& | BEp | oEoT)] 3EE 1 (110) s F B3 5110001095
— & | pEp | EoF| FeE 2 (110) s F HzrpEs 5110001105




